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According to the LMX Theory, what is a key element in the leader-member relationship?
Task management

Respect and mutual trust

Control over resources

Focus on competition

None of the above



Question Description In psychodynamic leadership, what is the focus of the leadership approach?

A Task completion

B Relationship dynamics
c Organizational change
D Power distribution

E None of the above
Correct Answer B

Marks 1

Question Description Which of the following is a primary function of management?
A Delegation

B Planning

c Ignoring feedback

D Avoiding change

E None of the above
Correct Answer B

Marks 1



Question Description Which of the following is a function of educational management?

A Focusing only on student performance

B Ignoring administrative processes

c Planning and organizing educational resources

D Avoiding teacher involvement

E None of the above

Correct Answer C

Marks 1

Question Description The Contingency Theory in educational leadership suggests that:
A Leadership effectiveness depends on external factors
B Only one leadership style is ideal for all situations

c Educational leadership is always top-down

D Leaders should be passive and reactive

E None of the above

Correct Answer A

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

What is a key challenge in teamwork?
Shared success

Collective decision-making
Disagreements and conflicts

Constant improvement

None of the above

C
1

Empathy in communication can best be described as:

Repeating the speaker’s words

Understanding and sharing the feelings of the speaker
Giving advice immediately after hearing the message
Ignoring the speaker’s emotions

None of the above



Question Description The Right to Education Act (RTE) in India primarily focuses on:

A Enhancing higher education

B Providing free and compulsory education to children between 6-14 years of age
c Encouraging private education

D increasing educational institutions for adults

E None of the above

Correct Answer B

Marks 1

Question Description Distributed Leadership refers to:

A A leader's personal power

B Leadership shared among various members of the organization
c A top-down leadership structure

D The leader making all decisions

E None of the above

Correct Answer B

Marks 1



10 Question Description In a school environment, which communication skill is particularly important for resolving conflicts?

A Active listening
B Avoiding the issue
c Ignoring the other person's viewpoint
D Speaking aggressively
E None of the above
Correct Answer A
Marks 1
1 Question Description In India, who is primarily responsible for the formulation of education policies?
A Individual schools
B State governments
c The Ministry of Human Resource Development (MHRD)
D Local educational committees
E None of the above
Correct Answer C

Marks 1



12 Question Description Which of the following is considered a key element of effective communication?

A The speaker’s personal agenda
B The listener’s active participation
c The absence of feedback
D Using complex language
E None of the above
Correct Answer B
Marks 1
13 Question Description What is the key feature of Situational Leadership?
A Adhering to a fixed leadership style
B Adapting leadership style based on the situation
c Focusing only on task completion
D Emphasizing individual performance
E None of the above
Correct Answer B

Marks 1



14 Question Description Which leadership style involves the leader making decisions alone and expecting subordinates to follow without input?

A Democratic
B Autocratic
c Transformational
D Laissez-faire
E None of the above
Correct Answer B
Marks 1

15 Question Description Which management theory focuses on employee motivation and organizational growth?
A Classical Theory
B Neo-Classical Theory
c Human Relations Theory
D Contingency Theory
E None of the above
Correct Answer C

Marks 1



16 Question Description In terms of teamwork, shared objectives refer to:

A Individuals working independently
B Team members focusing only on personal goals
c All members of the team working towards a common goal
D Competing against each other
E None of the above
Correct Answer C
Marks 1
17" Question Description Strategic planning in education involves:
A Focusing only on short-term goals
B Identifying long-term goals and aligning resources
c Ignoring external factors
D Emphasizing individual goals over institutional goals
E None of the above
Correct Answer B

Marks 1
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19

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which of the following is an example of a managerial skill?

Task completion

Human resource management

Rigidity in decision-making

Lack of delegation

None of the above

What does institutional planning in educational organizations involve?

Focusing on individual achievements

Ensuring that educational policies are developed

Creating a clear and structured roadmap for the institution's future

Avoiding feedback from students and staff

None of the above



20 Question Description Which of the following is a characteristic of a good leader?

A Inflexibility
B Clear communication
c Lack of empathy
D Authoritarian behavior
E None of the above
Correct Answer B
Marks 1
21" Question Description Which of the following strategies helps develop a balanced team?
A Focusing only on the strongest member
B Ignoring conflict and avoiding discussions
c Valuing diverse perspectives and skills
D Limiting team participation
E None of the above
Correct Answer C

Marks 1
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23

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which of the following communication models includes feedback as a crucial part?

Linear model
Interactive model
Shannon-Weaver model
Aristotle’s model

None of the above

A team identity is important because it:

Decreases group communication

Makes it harder to achieve common goals

Strengthens collaboration and solidarity within the team
Is not relevant in most teams

None of the above

C



24 Question Description The National Curriculum Framework (NCF) in India was developed to:

A Standardize the curriculum across all schools
B Create a framework for higher education
c Address the diverse needs of Indian students
D Promote online education only
E None of the above
Correct Answer C
Marks 1
25 Question Description Decision making is an essential aspect of:
A Organizing
B Leading
(6 Managing
D Monitoring
E None of the above
Correct Answer C

Marks 1



26

27

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

In the classical theory of management, emphasis is placed on:
Employee well-being

Individual freedom in decision-making

Efficiency and productivity through structured organization
Flexibility in roles

None of the above

C
1

Theories of management like Classical and Modern focus on:
Informal leadership

Efficiency, productivity, and the role of employees
Individual goals

Group dynamics alone

None of the above



28

29

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

What is a major benefit of teamwork in educational settings?

Increased individual effort

Decreased collaboration

Enhanced creativity and innovation

Reduced responsibility

None of the above

Which of the following is a key trait of educational leaders?

Lack of empathy

Inflexibility in decision making

Ability to inspire and motivate others

Avoiding conflict resolution

None of the above



30 Question Description What is the role of non-verbal communication in effective interaction?

A It reinforces verbal messages

B It replaces verbal communication entirely
c It has no impact on communication

D It only conveys negative emotions

E None of the above

Correct Answer A

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage given below and answer the Questions:

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or
odd. But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like
to practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself,
but if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to
blow the trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to
accommodate my liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the
imperfections of others in this respect than of our own. A reasonable consideration for the rights or feelings of others is the
foundation of social conduct.

It appears from the passage that ‘the whole kingdom” implies

one’s privilege of liberty without violating that of others’

our own free will and liberty

our free and private space to enjoy liberty

our personal space in relation to public spaces

None of the above

A
1



32 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage given below and answer the Questions:

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or
odd. But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like
to practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself,
but if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to
blow the trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to
accommodate my liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the
imperfections of others in this respect than of our own. A reasonable consideration for the rights or feelings of others is the
foundation of social conduct.

In the context of the passage, the closest synonym for ‘accommodate...to’ can be ------

adapt to

adjust with

integrate with

modify by

None of the above



33 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage given below and answer the Questions:

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or
odd. But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like
to practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself,
but if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to
blow the trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to
accommodate my liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the
imperfections of others in this respect than of our own. A reasonable consideration for the rights or feelings of others is the
foundation of social conduct.

The phrases “wise or ridiculous, harsh or easy, conventional or odd” in the above passage, describe our -------
kingdom

actions

Rule

behaviour

None of the above



34 Comprehension

Question Description

Correct Answer

Marks

Read the Passage given below and answer the Questions:

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or
odd. But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like
to practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself,
but if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to
blow the trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to
accommodate my liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the
imperfections of others in this respect than of our own. A reasonable consideration for the rights or feelings of others is the
foundation of social conduct.

Read the following statement carefully and identify the option that is its closest version with the least change in the meaning of the
original

“Unfortunately, we are much more conscious of the imperfections of others, in this respect, than of our own”

Fortunately, we are not much more conscious of the imperfections of others, in this respect, than of our own

Unfortunately, we are much less conscious of the imperfections of others, in this respect, than of our own

Unfortunately, we are not any the less conscious of the imperfections of others, in this respect, than of our own

Fortunately, we are much more conscious of the imperfections of others, in this respect, than of our own

None of the above



35 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage given below and answer the Questions:

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or
odd. But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like
to practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself,
but if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to
blow the trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to
accommodate my liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the
imperfections of others in this respect than of our own. A reasonable consideration for the rights or feelings of others is the
foundation of social conduct.

The word ‘trombone’ in the passage refers to ----

the tone of voice

a musical note

the throat bone

wind instrument

None of the above



36 comprehension Read the following Passage and answer the Questions Below:
The importance of education in shaping the future of a country cannot be overstated. Countries that invest in quality education often
see growth in their economies, a reduction in poverty levels, and an increase in overall well-being. In recent years, many nations
have focused on improving access to education, particularly for girls and marginalized communities, recognizing that inclusive

education is essential for societal progress.

Question Description What is the main theme of the passage?
A Importance of economic policies

B Role of education in societal progress
c Impact of poverty on education

D Gender inequality in education

E None of the above

Correct Answer B

Marks 1



37 Comprehension Read the following Passage and answer the Questions Below:
The importance of education in shaping the future of a country cannot be overstated. Countries that invest in quality education often
see growth in their economies, a reduction in poverty levels, and an increase in overall well-being. In recent years, many nations
have focused on improving access to education, particularly for girls and marginalized communities, recognizing that inclusive

education is essential for societal progress.

Question Description Which group has received special focus in improving access to education?
A Adults

B Girls and marginalized communities

C Senior citizens

D Only boys

E None of the above

Correct Answer B

Marks 1



38 Comprehension Read the following Passage and answer the Questions Below:
The importance of education in shaping the future of a country cannot be overstated. Countries that invest in quality education often
see growth in their economies, a reduction in poverty levels, and an increase in overall well-being. In recent years, many nations
have focused on improving access to education, particularly for girls and marginalized communities, recognizing that inclusive

education is essential for societal progress.

Question Description What is a potential result of investing in quality education?
A Increase in poverty

B Economic growth

c Decrease in literacy

D Less social interaction

E None of the above

Correct Answer B

Marks 1



39 comprehension Read the following Passage and answer the Questions Below:
The importance of education in shaping the future of a country cannot be overstated. Countries that invest in quality education often
see growth in their economies, a reduction in poverty levels, and an increase in overall well-being. In recent years, many nations
have focused on improving access to education, particularly for girls and marginalized communities, recognizing that inclusive

education is essential for societal progress.

Question Description What does the passage suggest about inclusive education?
A It is unnecessary

B It is essential for progress

c It only benefits certain groups

D It should be avoided

E None of the above

Correct Answer B

Marks 1



40" Comprehension Read the following Passage and answer the Questions Below:
The importance of education in shaping the future of a country cannot be overstated. Countries that invest in quality education often
see growth in their economies, a reduction in poverty levels, and an increase in overall well-being. In recent years, many nations
have focused on improving access to education, particularly for girls and marginalized communities, recognizing that inclusive

education is essential for societal progress.

Question Description How does education impact poverty levels?
A It increases poverty

B It has no effect

c It helps reduce poverty

D It worsens poverty

E None of the above

Correct Answer C

Marks 1



41 Question Description Which state will host the 39th National Games in 20272

A Assam
B Meghalaya
c Manipur
D Sikkim
E None of the above
Correct Answer B
Marks 1

42 Question Description Which region's Virgin Coconut Oil recently received the prestigious Geographical Indication (GI) tag?
A Kerala
B Goa
C Lakshadweep
D Andaman and Nicobar
E None of the above
Correct Answer D

Marks 1



43 Question Description What is Zomato's new name after its recent rebranding?

A Eternal
B Infinite
c Zenith
D Continuum
E None of the above
Correct Answer A
Marks 1

44 Question Description Which two Indian cities have joined the Global Wetland Cities list?
A Indore & Udaipur
B Bhopal & Jaipur
c Varanasi & Mysuru
D Surat & Ahmedabad
E None of the above
Correct Answer A

Marks 1



45 Question Description In which city will Reliance Industries build the world’s largest data centre?

A Noida
B Ahmedabad
c Jamnagar
D Pune
E None of the above
Correct Answer C
Marks 1

46 Question Description Which Indian state has denotified three proposed reserve forests to grant land rights to residents?
A West Bengal
B Odisha
c Madhya Pradesh
D Assam
E None of the above
Correct Answer D

Marks 1



47" Question Description Which company has launched the Al-powered home loan advisor ‘KAI’?

A L&T
B HDFC
c ICICI Bank
D Bajaj Finserv
E None of the above
Correct Answer A
Marks 1
48 Question Description How many new wetlands were added to the Ramsar List in India recently?
A 4
B 3
c 5
D 2
E None of the above
Correct Answer A

Marks 1



49 Question Description On which date is World Pulses Day celebrated annually?

A February 10
B March 15
(o April 22
D January 5
E None of the above
Correct Answer A
Marks 1
50 Question Description On which date is National Voters’ Day celebrated in India?
A January 24
B January 25
c January 26
D January 23
E None of the above
Correct Answer B

Marks 1



51 Question Description 2,5,10,17,26,?

A 35
B 37
c 39
D 41
E None of the above
Correct Answer B
Marks 1
52 Question Description Find the next number in the series:
3,10,22,41,68,
A 99
B 100
c 104
D 109
E None of the above
Correct Answer B

Marks 1



53 Question Description Which is an essential part of a computer?

A Monitor

B Keyboard

c Processor

D Printer

E None of the above
Correct Answer C

Marks 1



54" Question Description Selecta suitable figure from the four altern atives that would complete the figure matrix.

[2]

[Z7

@D
z7
| 2
o)

LB [lE €D

A 1
B 2
c 3
D 4
E None of the above
Correct Answer C

Marks 1



55

56

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

In the series, find the missing term:
A,D,G,J, ,P

K

O

None of the above

Which one of the following is the odd one out?

Beethoven

Mozart

Chopin

Rembrandt

None of the above



57 Question Description Statement: "We should close all non-essential businesses to reduce the spread of COVID-19."
Argument:
A) Closing non-essential businesses will help reduce the spread of the virus.
B) Closing businesses will harm the economy and cause job losses.
Which argument is stronger?

A Argument A

B Argument B

c Both arguments are valid
D Neither argument is valid
E None of the above
Correct Answer A

Marks 1



58 Question Description A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:

A 145°

B 150°

c 155°

D 160°

E None of the above
Correct Answer C

Marks 1



59 Question Description Statement: "The company has launched a new marketing campaign."
Conclusion:

1. The company wants to increase its sales.

2. The company is facing financial issues.

A Only conclusion 1 is valid.
B Only conclusion 2 is valid.
c Both conclusions are valid.
D Neither conclusion is valid
E None of the above

Correct Answer A

Marks 1



60 Question Description Ten guards from A to J are standing on ten gates of a pentagon shaped park. The gates are built such that the gates at the corners of
the park are large and the gates at the edges of the park are small. The guards at the large gate are facing towards the center while
the guards at the small gate are facing outside the center.

B is standing third to the right of E, who is standing at one of the large gates. C is on the immediate left of D. I is an immediate
neighbor of B and stands third to the right of F. C is not adjacent to both F and B. A is facing towards the center. G faces outside
and is not an immediate neighbor of [ and C. Only 4 guards stand between A and H.

Four of the following five are alike in a certain way and thus form a group. Which of the folloiwng does not belong to the

same group?

A D

B I

(o] E

D B

E None of the above
Correct Answer D

Marks 1



67" Question Description Book is to reading as fork is to:

A Eating
B Writing
c Sleeping
D Playing
E None of the above
Correct Answer A
Marks 1
62 Question Description In an artificial language, if "FAR" means "cat," "MAR" means "dog," and "BAR" means "bird," what does "FAM" mean?
A Bird
B Cat
c Dog
D Unknown
E None of the above
Correct Answer B

Marks 1



63 Question Description Five people A, B, C, D, and E are sitting in a row. B is between A and C. A is not at the end. D is at the end. E is not adjacent to A.
Who is sitting to the immediate left of C?

A A

B B

(o] D

D Cannot be determined
E None of the above
Correct Answer B

Marks 1



64 Question Description

Correct Answer

Marks

Here are some words translated from an artificial language.
migenlasan means cupboard

lasanpoen means boardwalk

cuopdansa means pullman

Which word could mean "walkway"'?

poenmigen

lasandansa

cuopeisel

poenforc

None of the above



65 Question Description Statement :
Drinking water supply to New Bombay has been suspended till further orders from Maharashtra Pollution Control Board following
pollution of Patalganga river, caused by discharge of effluents from some chemical industries.
Courses of Action:

I. The industries responsible for discharging effluents into the river should be asked to close down immediately.

[l. The river water should immediately be treated chemically before resuming supply.

The Pollution Control Board should check the nature of effluents being discharged into the river by industries at regular intervals

A Only I follows

B Only II and III follow
c Only III follows

D All follow

E None of the above
Correct Answer B

Marks 1



66 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of '::' . One
word is given on another side of '::' while another word is to be found from the given options, having the same relation with
this word as the words of the given pair . Choose the correct word from the following options..

MAD : JXA :: RUN:?

A 0SQ

B PRJ

© UXQ

D ORK

E None of the above
Correct Answer D

Marks 1



67 Question Description The population of a town increased from 1,75,000 to 2,62,500 in a decade. The average percent increase of population per year is:

A 4.37%
B 5%
c 6%
D 8.75%
E None of the above
Correct Answer B
Marks 1
68 Question Description Which of the following is the odd one out?
A Dolphin
B Whale
c Shark
D Seal
E None of the above
Correct Answer C

Marks 1



69

70

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Statement: "I am not happy with my new job because the work environment is poor."

Judgment:

The person dislikes their new job.

The person has a poor work environment.

The work environment does not matter.

The person will quit the job.

None of the above

A is taller than B, but shorter than C. D is shorter than E, but taller than A. Who is the tallest?

A

E

None of the above



71" Question Description Which word matches the following definition: "A place where ships dock."

A Harbor
B Wharf
c Marina
D Dock
E None of the above
Correct Answer A
Marks 1
72 Question Description 4,20, 120, 840, ?, 6720 . Identify the number on the place of 2’
A 5880
B 5040
(¢ 6720
D 7560
E None of the above
Correct Answer C

Marks 1



73

Question Description

Correct Answer

Marks

n

Statement: "The delay in the project is due to a shortage of materials.

Judgment:

The shortage of materials is the sole cause of the delay.
There could be other factors contributing to the delay.

The delay is not due to the shortage of materials.

The shortage of materials has nothing to do with the delay.

None of the above



74 Question Description Select a suitable figure fromth e four altern atives th atwould complete the figure matrix.

AN I°
A+
LI 2
AFIXTY
(1) (2) (3 4@

A 1

B 2

(03 3

D 4

E None of the above

Correct Answer D

Marks 1



75 Question Description Choose the statement that is best supported by the information given

If you're a fitness walker, there is no need for a commute to a health club. Your neighborhood can be your health club. You don't
need a lot of fancy equipment to get a good workout either. All you need is a well-designed pair of athletic shoes.
This paragraph best supports the statement that

A fitness walking is a better form of exercise than weight lifting.

B a membership in a health club is a poor investment.

c walking outdoors provides a better workout than walking indoors.
D fitness walking is a convenient and valuable form of exercise.

E None of the above

Correct Answer D

Marks 1



